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oA+ 1,411,466,336 | 69.2% 128,800,000 | 17.3% -1,282,666,336
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MoAb = | 72X | 1,411,466,336 128,800,000 | -1,282,666,336
Exzsxd|Exza3+¢ 62,543,000 | 52,000,000 -10,543,000
s | FEEEsY 241,200,000 225,000,000 -16,200,000
o & =&s| 0o & = 301,324,345 315,000,000 13,675,655
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o1 | 44,631,720 45,074,760 443,040
Ab 2 oH| AR T 9,200,000 9,200,000 | 0
2gH| 19,900,000 19,500,000 -400,000
K&tz dH| A|EH] 1,522,000,000 318,000,000 |  -1,204,000,000
At ® H| Atgds| 5,000,000 20,000,000 15,000,000
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012 ~1287XA HIXIEFAF 903323 25,000,000
olga 301,324,345 | 315,000,000 13,675,655
olg=s 301,324,345 | 315,000,000 13,675,655
HYzolEa 174,486,988 | 115,000,000 -59,486,988 [ AIEE |<HHE O|E2>-5H 115,000,000
1. ¥ OJ&3F 1005-002-625893 115,000,000
HEZ0lAZ(FHY 126,837,357 | 200,000,000 73,162,643 | FTYUF [<THEZ O|HZ>-FAF 200,000,000
1. MU 0|2 Z(/HEY 467-05-002361 200,000,000
T 22,213,322 22,200,000 -13,322
T+ 22,213,322 22,200,000 -13,322
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2, 4 Z%|H|(1)20,00081*12=240,000 240,000
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7|22 gy| 2,000,000 2,000,000 0| FHUE |< AR ARHF S0 st FH|> 2,000,000
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1. BE[H|, = A7k, QI E R, H 7] 6,000,000
HAMSota 2,600,000 2,600,000 0| E¥F [<HAMSIE> 2,600,000
1XS AL E M S 1,500,000
1.EHFALE = R} Ol 3] 1,100,000
A 3,200,000 3,300,000 100,000 | ZZ (<XHBFLH[> 3,300,000
1. KHEEQHY 2| 2,500,000
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Mtz gH| 1,522,000,000 318,000,000 | -1,204,000,000
Al dH| 1,522,000,000 318,000,000 | -1,204,000,000
Xt SH| 1,520,000,000 312,000,000 | -1,208,000,000 <BoI2 Yo Mot U & EX|,HE 7|Ef> 312,000,000
1.8el 290 Wast HES 312,000,000
A MEH{ R 2,000,000 6,000,000 4,000,000 <% 4 7HFHH| 7| EA gl S| HE ) 6,000,000
1Al RAEH| 3,000,000
2UZHH| A E sgH| 3,000,000
Al 5,000,000 20,000,000 (]
AbeiH| 5,000,000 20,000,000 0
X YAtz = xf= 5,000,000 20,000,000 0| FHE [<XGMBFXZAFT> 20,000,000
1 XA ER =Y 20,000,000
dEz 123,255,700 151,000,000 27,744,300
HEF 123,255,700 151,000,000 27,744,300
AdEEFZ 26,555,700 41,000,000 14,444,300 | RHRE |<MBIAMHES> 41,000,000
1.08%e= 10,000,000
2 MYEE3 25,000,000
0N RAMHEI A M Bl S (Aot r A 201818~ 129 6,000,000
AYBESEE 96,700,000 110,000,000 13,300,000 | FAZ |<ABIAHHEZ(FAZ)> 110,000,000
1,20 Y E 15,000,000
2.0t A RS E A 5,000,000
3O ET X B 40,000,000
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7.EZH Aol ol 2 5 =1 FH(3,000,000 8 *42) 15,000,000
8. &I A0} 12X T8 -2 (5,000,000 84*13]) 7,000,000
OflH|H] & 2} 314,759,563 180,225,240 -134,534,343 180,225,240
ojfHte] % 7|t 500,000 500,000 TRE 500,000
14,700,000 9,725,240 oflujHl 3 7|Et 9,725,240
114,779,788 80,000,000 ojalZ-Areis=2l 80,000,000
184,779,795 90,000,000 olAS-(AHIXHEF 90,000,000
A & 3 3 2,038,747,003 743,000,000 | -1,295,747,003 743,000,000




